Trigonometric Ratio
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Que 2:- If cos @ = X , find the value of all T-ratios of 6
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As we Knww FhsA M@:% q? NC = g,)(‘v
~ ot = LS -
AT ’@ f’)PfC = [ % |
-\ N\
ODJ(&:-‘““%X - Neooq A | \
7 \Ogmg“fm’_f




SRR [ sec @=410 find all the values of all T-ratios of &

s we knaw Hak Cose = H
P
_ A
- Cose 9§ = A/Z =0

D Cofey = 1o e)

) 2y R = 107

:5 [53:: [on” - X"

N




. ),
a —b°

a +b

find all the values of all T-ratios of ¢

2




C where 4 > 0 then find the values of cos 6 and tan 0.

c" +d [CBSE 2013]
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Bl Tf /3 tan 6 = 1 then evaluate (cos*0—sin”6).




(8l If 4tan 6 = 3 then prove that sin 8cos 0 =
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O[I N [ tan 6 = —g- then prove that (asm 9 —bcos 9) _(a”-b7)
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Que 13:- i L L then evaluate | S22 0 + _Bno 4
sin® 1+ cosHO
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oI M [f tan O = e then prove that (1-sinB+cosb) 3 A
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Que 19:- If sin 6 = §— then prove that
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If 3tan A = 4 then prove that
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y Y28 In a AABC, if /B =90° and tan A =1 then prove that 2sin Acos A =1.




YZ M In the given figure, ABCD is a rectangle in which g

diag. AC =17 cm, /BCA =0 and sin 0 = %-

Find (i) the area of rect. ABCD,
(ii) the perimeter of rect. ABCD. [CBSE 2014]
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. In AABC, ZA =0, /ZB = 0()° and £ZC = (b.
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27:- If cot A + 1 =2 find the value of (cot2A+ 'lz )
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If /3 tan 6 = 3sin 0, find the value of sin .




VA*RN If /A and ZB are acute angles such that sin A =sin B then prove that




{1} If LA and £B are acute angles such that tan A =tan B then prove that
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IR If 1+ sin® 0 = 3sin Ocos 6, prove that tan =1 or %—
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